
































Name: Calculus and Linear Algebra I, Fall 2022

14. (25 points)

(a)4 For a matrix A ∈ M(n × n), give one equivalent statement to ”The inverse of A, i.e.,

a matrix A−1 such that A−1A = 1, exists”.

(b)10 Find the inverse of

A =



1 2 0

1 1 1

2 0 −1


 using row operations as in the lecture.

(c)4 Solve the equation Ax = b with b = (1, 2, 1)T .

(d)3 What are the values for the Rank and Nullity of A? Briefly explain your answer.

(e)4 Now consider the matrix B =



1 2 4

1 1 2

2 0 0


, i.e., we have changed the last column in A.

What are the values for the Rank and Nullity of B? Briefly explain your answer.
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